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a? = b + ¢ —d® + 2(ac + bd) & HFEA J25) o A0

® (a+b-c-d)(a-b+c+d)
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= (a® + 2ac + ¢*) — (b* - 2bd + d?)
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=(a+b+c-d)(a-b+c+d)




9. MR OE A LS y, 2ol ot x° +y% + 2 = 3xy: E WHD 0,
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@o @ 1 ® 2 @ 3 ® 4

¥+ + 22 - 3xyz
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(x+y+2)=0FE=2+y’+22-xy—-yz—-2x=0
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I ohahA] 13 32 4 2x, xt—4xd 4 4x2 O] Z| T ZeFot 2] ATl
27 f(x),g(x) 22 M, £(3) +¢(3) 2 k= 57

@ 18 @ 19 ® 20 (@)21 ® 22

¥ -3+ 2x=x(x-2)(x-1)

x—4x3 4452 = 22 (x - 2)°

Sf @) =x(x-2),8(x) =22 (x-1) (x-2)°
A fB)+g(3)=3+18=21




13. F oA a2 +x-2, x*+2x2-3x 9] HHFUHFE G(x), H LTSS

L(x)2t & u, G(2) + L(2) <] #t& 51w

@1 @ 11 ® 21 @ 31 341

~&B

P +x-2=((x+2)(x-1)
4222 = Bx = x(xr=1) (v +3)
G(x):x—l

Lx)=x(x-1)(x+2)(x+3)
L G(2)+L(2)=1+40=41




o|2kgre] A47} 191 T o] 2tkaHAl A, BO] g4t x + 20] 1

HAZET 23 + 12 —4x—40]th A+ B = ax® + bx+ ¢ & W=ESH=
A4 a+ b+ c 9 3 oot

» E:

> =g 3

B+ —dx-4=(x+2)(x+1)(x-2)
FOFAS AT (x4 2)(x+ 1), (x+2)(x - 2)
A+B=(x+2)(x-2)+ (x+2) (x+1)
=2x24+3x-2=ax2+bx+c
La=2,b=3,c=-2

“a+b+c=3
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